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[Question ID = 351][Question Description = 151_20_Hindi_S3_SEPT22_Q51]
1. 1 [Option ID = 1401]
2. 2 [Option ID = 1402]
3. 3 [Option ID = 1403]
4. 4 [Option ID = 1404]
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[Question ID = 352][Question Description = 152_20_Hindi_S3_SEPT22_Q52]
1. 1 [Option ID = 1405]
2. 2 [Option ID = 1406]

3. 3 [Option ID = 1407]
4. 4 [Option ID = 1408]



>3 w7 EE 39O § 30 8 -

A TH AR F17 1 ga89

B. el % 9iq HAoT IaEd

C. BTRTIHAT F fa G FEwa

D. FefT Fr F277 F 9T FoH F IHA IH

A U 17 Feest # ¥ §E ST T89S FiAT

1. 9 AFR C
. FFe BHEED
3. FoT AFT B
4. FFa AFT D

[Question ID = 353][Question Description = 153_20_Hindi_S3_SEPT22_Q53]
1. 1 [Option ID = 1409]
2. 2 [Option ID = 1410]
3. 3 [Option ID = 1411]
4. 4 [Option ID = 1412]
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[Question ID = 354][Question Description = 154_20_Hindi_S3_SEPT22_Q54]
1. 1 [Option ID = 1413]
2. 2 [Option ID = 1414]
3. 3 [Option ID = 1415]
4. 4 [Option ID = 1416]
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[Question ID = 355][Question Description = 155_20_Hindi_S3_SEPT22_Q55]
1. 1 [Option ID = 1417]
2. 2 [Option ID = 1418]
3. 3 [Option ID = 1419]
4. 4 [Option ID = 1420]

>6) ATUTHTET T HToAFAT T Fo/9 959 § -

A 3EE 9H
B. ®i%F HEHIT FT FAF AT WEFT 354

C. Forrelr T FHTIET TURTAT FT STHEH
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[Question ID = 356][Question Description = 156_20_Hindi_S3_SEPT22_Q56]
1. 1 [Option ID = 1421]
2. 2 [Option ID = 1422]
3. 3 [Option ID = 1423]
4. 4 [Option ID = 1424]
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[Question ID = 357][Question Description = 157_20_Hindi_S3_SEPT22_Q57]
1. 1 [Option ID = 1425]
2. 2 [Option ID = 1426]
3. 3 [Option ID = 1427]
4. 4 [Option ID = 1428]
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[Question ID = 358][Question Description = 158_20_Hindi_S3_SEPT22_Q58]
1. 1 [Option ID = 1429]
2. 2 [Option ID = 1430]
3. 3 [Option ID = 1431]
4. 4 [Option ID = 1432]
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[Question ID = 359][Question Description = 159_20_Hindi_S3_SEPT22_Q59]
1. 1 [Option ID = 1433]
2. 2 [Option ID = 1434]
3. 3 [Option ID = 1435]
4. 4 [Option ID = 1436]
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[Question ID = 360][Question Description = 160_20_Hindi_S3_SEPT22_Q60]
1. 1 [Option ID = 1437]
2. 2 [Option ID = 1438]
3. 3 [Option ID = 1439]
4. 4 [Option ID = 1440]
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[Question ID = 361][Question Description = 161_20_Hindi_S3_SEPT22_Q61]
1. 1 [Option ID = 1441]
2. 2 [Option ID = 1442]
3. 3 [Option ID = 1443]
4. 4 [Option ID = 1444]
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3, FEF CHT D
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[Question ID = 362][Question Description = 162_20_Hindi_S3_SEPT22_Q62]
1. 1 [Option ID = 1445]
2. 2 [Option ID = 1446]
3. 3 [Option ID = 1447]
4. 4 [Option ID = 1448]
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[Question ID = 363][Question Description = 163_20_Hindi_S3_SEPT22_Q63]
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64)

1 [Option ID = 1449]
2 [Option ID = 1450]
3 [Option ID = 1451]
4 [Option ID = 1452]
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[Question ID = 364][Question Description = 164_20_Hindi_S3_SEPT22_Q64]

A wWw N =

1 [Option ID = 1453]
2 [Option ID = 1454]
3 [Option ID = 1455]
4 [Option ID = 1456]
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[Question ID = 365][Question Description = 165_20_Hindi_S3_SEPT22_Q65]
1. 1 [Option ID = 1457]
2. 2 [Option ID = 1458]
3. 3 [Option ID = 1459]
4. 4 [Option ID = 1460]
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[Question ID = 366][Question Description = 166_20_Hindi_S3_SEPT22_Q66]
1. 1 [Option ID = 1461]
2. 2 [Option ID = 1462]
3. 3 [Option ID = 1463]
4. 4 [Option ID = 1464]
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[Question ID = 367][Question Description = 167_20_Hindi_S3_SEPT22_Q67]
1. 1 [Option ID = 1465]
2. 2 [Option ID = 1466]
3. 3 [Option ID = 1467]
4. 4 [Option ID = 1468]
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[Question ID = 368][Question Description = 168_20_Hindi_S3_SEPT22_Q68]
1. 1 [Option ID = 1469]
2. 2 [Option ID = 1470]
3. 3 [Option ID = 1471]
4. 4 [Option ID = 1472]
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[Question ID = 369][Question Description = 169_20_Hindi_S3_SEPT22_Q69]

A wpN =

1 [Option ID = 1473]
2 [Option ID = 1474]
3 [Option ID = 1475]
4 [Option ID = 1476]
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[Question ID = 370][Question Description = 170_20_Hindi_S3_SEPT22_Q70]

AN wnN -

1 [Option ID = 1477]
2 [Option ID = 1478]
3 [Option ID = 1479]
4 [Option ID = 1480]
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[Question ID = 371][Question Description = 171_20_Hindi_S3_SEPT22_Q71]

1. 1 [Option ID = 1481]
2. 2 [Option ID = 1482]
3. 3 [Option ID = 1483]
4. 4 [Option ID = 1484]
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[Question ID = 372][Question Description = 172_20_Hindi_S3_SEPT22_Q72]

1. 1 [Option ID = 1485]
2. 2 [Option ID = 1486]
3. 3 [Option ID = 1487]
4. 4 [Option ID = 1488]
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[Question ID = 373][Question Description = 173_20_Hindi_S3_SEPT22_Q73]

A wpN =

1 [Option ID = 1489]
2 [Option ID = 1490]
3 [Option ID = 1491]
4 [Option ID = 1492]
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[Question ID = 374][Question Description = 174_20_Hindi_S3_SEPT22_Q74]
1 [Option ID = 1493]
2 [Option ID = 1494]
3 [Option ID = 1495]
4 [Option ID = 1496]
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[Question ID = 375][Question Description = 175_20_Hindi_S3_SEPT22_Q75]
1. 1 [Option ID = 1497]
2. 2 [Option ID = 1498]
3. 3 [Option ID = 1499]
4. 4 [Option ID = 1500]
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[Question ID =
1. 1 [Option ID =
2. 2 [Option ID =
3. 3 [Option ID =
4. 4 [Option ID =

376][Question Description = 176_20_Hindi_S3_SEPT22_Q76]
1501]
1502]
1503]
1504]
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[Question ID = 377][Question Description = 177_20_Hindi_S3_SEPT22_Q77]
1. 1 [Option ID = 1505]
2. 2 [Option ID = 1506]
3. 3 [Option ID = 1507]
4. 4 [Option ID = 1508]
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[Question ID = 378][Question Description = 178_20_Hindi_S3_SEPT22_Q78]
1. 1 [Option ID = 1509]
2. 2 [Option ID = 1510]
3. 3 [Option ID = 1511]
4. 4 [Option ID = 1512]
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[Question ID = 379][Question Description = 179_20_Hindi_S3_SEPT22_Q79]
1. 1 [Option ID = 1513]
2. 2 [Option ID = 1514]
3. 3 [Option ID = 1515]
4. 4 [Option ID = 1516]
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[Question ID = 380][Question Description = 180_20_Hindi_S3_SEPT22_Q80]
1. 1 [Option ID = 1517]
2. 2 [Option ID = 1518]
3. 3 [Option ID = 1519]
4. 4 [Option ID = 1520]
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[Question ID = 381][Question Description = 181_20_Hindi_S3_SEPT22_Q81]
1. 1 [Option ID = 1521]
2. 2 [Option ID = 1522]
3. 3 [Option ID = 1523]
4. 4 [Option ID = 1524]
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[Question ID = 382][Question Description = 182_20_Hindi_S3_SEPT22_Q82]
1. 1 [Option ID = 1525]
2. 2 [Option ID = 1526]
3. 3 [Option ID = 1527]
4. 4 [Option ID = 1528]
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[Question ID = 383][Question Description = 183_20_Hindi_S3_SEPT22_Q83]
1. 1 [Option ID = 1529]
2. 2 [Option ID = 1530]
3. 3 [Option ID = 1531]
4. 4 [Option ID = 1532]
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[Question ID = 384][Question Description = 184_20_Hindi_S3_SEPT22_Q84]
1. 1 [Option ID = 1533]
2. 2 [Option ID = 1534]
3. 3 [Option ID = 1535]
4. 4 [Option ID = 1536]
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[Question ID = 385][Question Description = 185_20_Hindi_S3_SEPT22_Q85]
1. 1 [Option ID = 1537]
2. 2 [Option ID = 1538]
3. 3 [Option ID = 1539]
4. 4 [Option ID = 1540]
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[Question ID = 386][Question Description = 186_20_Hindi_S3_SEPT22_Q86]
1. 1 [Option ID = 1541]
2. 2 [Option ID = 1542]
3. 3 [Option ID = 1543]
4. 4 [Option ID = 1544]
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[Question ID = 387][Question Description = 187_20_Hindi_S3_SEPT22_Q87]
1. 1 [Option ID = 1545]
2. 2 [Option ID = 1546]
3. 3 [Option ID = 1547]
4. 4 [Option ID = 1548]
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) The following table presents the number of employees recruited for five different

positions/posts of Administrators. Analysts, Programmers. Testers and Peons (R) in an IT
company and those who left (L) the company during the vears 2016 — 2021. Based on the data
in the table. answer the questions : (Year of foundation of the Company is 2016)

Year-Wise Distribution of Employees

Position | Administrators | Analysts | Programmers | Testers | Peons

= R L R | L R L R|L|R|L
Year i

2016 380 — 600 | — 440 — | 580 | — | 410 | —
2017 140 60 | 136 | 60 | 128 52 | 100 | 50 | 92 | 48
2018 80 46 | 120 |64 | 120 60 | 112 |52 | 76 | 44
2019 T4 44 (118 | 48| 104 50 | 124 | 48| 98 | 40
2020 30 36 | 128 | B0 96 56 | 136 |44 | 112 | 60
2021 96 48 | 144 | 56| 124 72 | 130 | 46 | 100 | 52

ferferfian aifeem O fefl o A+t 0 od 20162021 % vomas, faweirs s, ofige 3 agnd
& utg fim wel w Feifa ®) 3 gesr ™ (L) sdEmE f gen § o @) arfess 3 @l o st
& SNEN W, Y99 1-5 &1 3 A (Ff @ v 96 2016 2)

A ] @ fere

yoTHE | favema | U qfieTes Epne|

R|(L R|L| R | L|ER|L|R|L

2016 380 — | 600 | — | 440 | — | 580 | — 410 | —
2017 140 (60| 136 | 60 | 128 ( 52 | 100 | 50 | 92 | 48
2018 90 (46| 120 |6G4 (120 60| 112 |52 | 76 | 44
2018 T4 |44 |118 (48 |104 |50 | 124 |48 | 98 | 40
2020 80 |36|128 |50 | 96 |56 | 136 |44 | 112 | 60
2021 96 |48 | 144 |56 | 124 | 72 | 130 | 46 | 100 | 52

If M and N represent the number of Analysts and number of Testers recruited in the
company during the years 2017 to 2021. Then M —N =

gfe M 3n N =¥ 2017 | 2021 % en@ i § frafam favdma & gen sin e § e 0
A W B, Al M —N=
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2)  The following table presents the number of employees recruited for five different

positions/posts of Administrators, Analysts, Programmers. Testers and Peons (R) in an IT
company and those who left (L) the company during the vears 2016 — 2021. Based on the data
in the table. answer the questions : (Year of foundation of the Company is 2016)

Year-Wise Distribution of Employees

Position | Administrators | Analysts | Programmers | Testers | Peons

= R L R | L R L R |L| R |L
Year i

2016 380 - 600 | — 440 — | 580 | — | 410 | —
2017 140 60 | 136 | 60 | 128 52 | 100 | 50 | 92 | 48
2018 90 46 | 120 |64 | 120 60 | 112 |52 | 76 | 44
2019 74 44 | 118 |48 | 104 30 | 124 |48 | 98 | 40
2020 80 36 | 128 | B0 96 b6 | 136 |44 | 112 | 60
2021 96 48 | 144 | 56 | 124 72 | 130 | 46 | 100 | 52

feferfiga afeem 4 @ o d &0 0 a4 2016-2021 @ wonHs, favevs dmmg, wes i 9w
& yig fim wl @ FEifaa (®) st @rge 19 (L) sduie) 6 gen G owfl 8 afas d g m o siee
& FET 9, Uvq 1-5 F1 3R Aful (e w w96 2016 2)

=R FaEied] @ fea

yoEss | favems | gmmm TitaTeh HTH

R|(L R|L| R | L|R|L|R|L

2016 350 — | 600 | — | 440 | — | 580 | — 410 | —
2017 140 (60| 136 | 60 | 128 ( 52 | 100 | 50 | 92 | 48
2018 90 (46| 120 |64 120 60| 112 |52 | 76 | 44
201% 74 |44 | 118 (48| 104 |50 | 134 | 43| 98 | 40
2020 80 | 36| 125 |20 | 96 |56 | 136 | 44 | 112 | 60
2021 96 |48 | 144 |56 | 124 | 72 | 130 | 46 | 100 | 52

The total numhber of Peons working in the Company at the end of year 2020, 1=

A 2020 % 3% a9 w9 0 FEE auiadl ) FE wen 2

[Question ID = 452][Question Description = 102_00_General_25_SEPT22_Q02]
1. @56

[Option ID = 1805]
2. 596

[Option ID = 1806]
3. 544

[Option ID = 1807]
4. 484

[Option ID = 1808]



3 The following table presents the number of employees recruited for five different

positions/posts of Administrators. Analysts, Programmers. Testers and Peons (R) in an IT
company and those who left (L) the company during the vears 2016 — 2021. Based on the data
in the table. answer the questions : (Year of foundation of the Company is 2016)

Year-Wise Distribution of Employees

Position | Administrators | Analysts | Programmers | Testers | Peons

= R L R | L R L R|L|R|L
Year i

2016 380 — 600 | — 440 — | 580 | — | 410 | —
2017 140 60 | 136 | 60 | 128 52 | 100 | 50 | 92 | 48
2018 80 46 | 120 |64 | 120 60 | 112 |52 | 76 | 44
2019 T4 44 (118 | 48| 104 50 | 124 | 48| 98 | 40
2020 30 36 | 128 | B0 96 56 | 136 |44 | 112 | 60
2021 96 48 | 144 | 56| 124 72 | 130 | 46 | 100 | 52

ferferfian aifeem O fefl o A+t 0 od 20162021 % vomas, faweirs s, ofige 3 agnd
& utg fim wel w Feifa ®) 3 gesr ™ (L) sdEmE f gen § o @) arfess 3 @l o st
& SNEN W, Y99 1-5 &1 3 A (Ff @ v 96 2016 2)

A ] @ fere

yoTHE | favema | U qfieTes Epne|

R|(L R|L| R | L|ER|L|R|L

2016 380 — | 600 | — | 440 | — | 580 | — 410 | —
2017 140 (60| 136 | 60 | 128 ( 52 | 100 | 50 | 92 | 48
2018 90 (46| 120 |6G4 (120 60| 112 |52 | 76 | 44
2018 T4 |44 |118 (48 |104 |50 | 124 |48 | 98 | 40
2020 80 |36|128 |50 | 96 |56 | 136 |44 | 112 | 60
2021 96 |48 | 144 |56 | 124 | 72 | 130 | 46 | 100 | 52

The percentage increase in the number of employees working in the company 1n 2021 to that
in 2016 was maximum for the position of

a4 2016 6 sz ad 2021 § FE 4 e wdfE 6 oden 0 sfaem 9t fefafes § § faa o
rel Hei o 7

[Question ID = 453][Question Description = 103_00_General_25_SEPT22_Q03]
1. Admimstrator

T
[Option ID = 1809]

2. Analyst
ferzerg e

[Option ID = 1810]

3. Programmer



T

[Option ID = 1811]
4. Tester

e
[Option ID = 1812]

4 The following table presents the number of employees reecruited for five different

positions/posts of Administrators. Analysts. Programmers. Testers and Peons (R) in an IT
company and those who left (L) the company during the vears 2016 — 2021. Based on the data
in the table. answer the questions : (Year of foundation of the Company is 2016)

Year-Wise Distribution of Emplovees

Position | Administrators | Analysts | Programmers | Testers | Peons

= R L R L R L R |L| R |L
Year l

2016 380 = 600 | — 440 = 580 | — | 410 —
2017 140 60 136 | 60 128 52 | 100 |50 | 92 | 48
2018 90 46 120 | 64 120 60 | 112 |52 | 76 | 44
2019 74 4 118 | 48 104 a0 | 124 |45 | 958 | 40
2020 30 36 128 | 50 96 56 | 136 | 44 | 112 | 60
2021 96 48 144 | 56 124 72 | 130 | 46 | 100 | 52

fFeferfign wife=m O i amd 6 i 4 94 2016-2021 % e, faves dmme, wfise i a9
& g fim w2 w Rt (R) R ges [ (L) so=m f wen g o) 8 At 4 o e
% AT 9, YTT 1-5 1 3 AT (FHef @ e b 2016 2)

a1 el @ fereror

yoTHe | favemes | 9T qflaTe FITH]

R|(L RER|L| R | L|ER|L|R|L

2016 380 | — | 600 | — | 440 | — | 580 | — 410 | —
2017 140 (60| 186 | 60 | 128 (52 | 100 | 50 | 92 | 48
2018 90 |46 | 120 |64 | 120 |60 | 112 (52| 76 |44
201% 74 | 44| 118 | 48 | 104 | 50 | 124 | 48 | 98 | 40
2020 80 |36|128 |50 | 96 |56 | 136 | 44 | 112 | 60
2021 96 |48 | 144 |56 | 124 | 72 | 130 | 46 | 100 | 52

The pooled sum of the total number of employees working for all the five positions in the
company at the end of the year 2018 1s

ad 2018 & 3Ha @k F § wfi o= w2 W FwEEa whariE F e qen @ ggtad 9m e e
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